SINE LAW PRACTICE
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1l Solve for all missing sides and angles in each triangle. Round to the nearest tenth.
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A search and rescue helicopter crew completed a
training exercise. The crew left the heliport and flew
15.0 km in the direction S45°E. They turned, then
flew N40°E and arrived at their destination. The
destination is 25.0 km from the heliport. Determine,
to the nearest tenth of a kilometre, the distance the
crew travelled on the second leg of their trip.
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An airplane is spotted by two observers on opposite sides of it. On the
ground, the observers are 1500 m apart. One observer’s line of sight to the
airplane makes an 83° angle with the ground. The other’s line of sight makes a

69° angle with the ground. Determine the distance from each observer to the
airplane, to the nearest metre.




